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R22

50

C1

100n
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Vin vout1NFB

;op

;noise vout ac1 dec 10 10 20000

.tran 0 {simtime} {dlytime} {numsampl}

.param timestep 1m/8192

.param f = 20k, t_edge=.005u

.param vasl 220k

.options plotwinsize=0

.options numdgt=7
 
.param Freq=2k
.param numcyc=10
.param dlycyc=10
.param FFT=8192
.param simtime=(dlycyc+numcyc)/Freq
.param dlytime=dlycyc/Freq
.param numsampl=simtime/Freq/((simtime/numcyc)*FFT)
.four {Freq} V(Vin) V(NFB) V(Vout1)
.param Rem 0.22
.param Rb1 0.47

;ac dec 100 1 1e7

.param rdge 68

APEX EX14 Power Amp

.options maxstep=0.02441555u

.options maxstep=0.48831106u

.step dec param level list .1 .5 1.3

V(vout)/-V(a)

PULSE(-1 1 0 {t_edge} {t_edge} {1/2/f-t_edge} {1/f})

SINE(0 1 {freq})

(Coupled)

(0.22)

(4.7,1W)

(4.7,1W)

(0.22)

(500mW idle)

SINE(0 1.25 {freq})

2SA1837

2SC4793

(Coupled)

825.18mV

-39.7748V

47.0992mV

57.4148mV

-36.5155V

39.7743V

-14.8055µV

40V

-40V

-14.8055µV

624.337mV

36.5487V

36.4758V

-38.5168V

-36.4471V

1.24164V

-1.2049V

-607.218mV

-690.134mV
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